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VIDYASAGAR UNIVERSITY.

Question Paper

B.Sc. Honours Examination 2023

Semester — II
Subject : PHYSICS Q)A% o
‘Paper : GE-2T AL ue@*
( Thermal Physics and Statistical Mechanics )

Full Marks : 40
Time : 2 hours

Candidates are required to give their answers
in their own words as far as practicable.

The figures in the margin indicate full marks.
Answer from all the Groups as directed.

GROUP—A

Answer any five questions from the following :
2x5=10

1. What is the significance of the first law of
thermodynamics?
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(4)
GROUP—C

Answer any one question from the following :

15. ()

- (b)

16. (@)

(b)
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10x1=10
Prove that C,-C, ﬁ+hm~\u m@l«\.u
Al ov oT/p
From this relation, prove that mow an ideal
gas Oﬁlﬁcn%. 4+1=5

State Carnot’s theorem. Explain the
principle of increase in entropy. State the
second law of thermodynamics in terms of
entropy. 2+2+1=5

Derive the first and second T.dS equations.
2%+2%=5

Write down the Planck’s law of radiation.
From this law, derive Wien’s distribution
law and Rayleigh-Jeans distribution laws.

1+2+2=5
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